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* A person walks 5 km towards west from his house. He takes a left turn and

walks 10 km and again takes a left turn and walks 5 km. In which direction is
his house?

* Teh, ek ST B 5 Terdl] qiee fGwT ot SR Setar 1 98 aTe Jedl § R 10 foret
=TT § TAT TR H a1E qeaT & 37K 5 ToreT <rerar =1 Seeht o fordt famm & @2
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®* The average age of P, Q, R, Sand T is 27. The average age of R and S 1s 37 and
that of Q and T 1s 18. What will be the age of P?

* P,Q, R, S 3 T h! 3TEd 3T 27 =1 R 3 S AT 31T AT 37 & X Q 3T A
3f1ere 311 18 81 P shl 371 o1 Bl
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® In an examination, a student scored 4 marks for every correct answer and lost 1

mark for every wrong answer. If he attempted all the 75 questions and scored a
total of 125 marks, then find the number of questions he attempted correctly.

* Teh UL H Ueh ST < Ycdeh Hal SaL oh (o144 37eh ITH fohd J Tcdieh TTetd S oh 1oTq
| 37 @A | Al 36 AT 75 T & Tohd ST et 125 3o WTH fohT AT 360eh S,
et T ToRd 7T 4T shY TR T R
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* The difference between the simple interest and the compound interest on a

certain sum at 10% per annum for 2 years 1s Rs 732. Find the amount.

g Qﬂ?ﬁfzﬁrrﬁﬂw 10% Il 9N 2 e oh ol |TIRUT SATST ST Fshlg, ATl o ot

|7 ="332 A w372300

TS AR B wR 70,320

o). C. ¥ 73,200
 D.FF 0,
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® The ages of a father and his son are in the ratio 3 : 1. If their average age 1s 32

years, then what 1s the age of the father?

* T U 3T 38eh I ol 3“3@% AT H 2| S IThT TEd 3T 32 N =,
O =T 37T /T 22

A.64
B. 36

D.
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® There are some boys and cows at a place. If the total number of heads 1s 15 and
the total number of legs 1s 46, then how many boys and how many cows are
there?

* Teh T T D TTgeh I T 8| Ffe &kl 6 et H@ql@ﬁﬁﬁ?ﬁ el &l @
2, dl fohd igeh 37 fordt i 22

A.8 TT€h Td 7 T
A B.9 1€ Ud 6 T
C.7 dSHh Td 8 T
D. 6 &S Ta 9 T
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®* Mukesh 1s 40 years old and he 1s five times as old as his brother Rohit. When |
Mukesh is thrice as old as Rohit, then the age of Mukesh 1s-

* qehTT 40 TTCA T & TR € U TS U & Uil T ST 21 el HohaT Ufed & I 71
TS Al TR hl S B
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® There are 2100 students 1n a school. There 1s one class monitor for every 20 |

students. What 1s the number of monitors in the school?

* Teh Thet H 2100 BT 81 Tcdeh 20 BT oh 1T Teh el shT Wi Bl 81 Wbl H

HTTeX shY E&AT T =-
/ |
Dles — \/(A.loo J
2| “B. 30
C.75

D.85
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* A group of 2400 persons including captain and soldiers are traveling in a train

in total. This group consists of a captain with every 15 soldiers. Tell how many
captains are present in this group?

® 2400 SATHAT T Ueh THE {STEH hte IR Ui HISE H e (ol 7 H AT L & B
59 GHE o Tcdeh 15 HiHehl o |1 Ueh Shte QTHA & | SIS foh 39 EHE et foha
HE HISIE © 2

“A.85

B. 150

C. 80
D.75
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* The flowers kept in a basket double every minute and the basket 1s completely |

filled in 30 minutes. In how many minutes will one-fourth of the basket be
filled with flowers?

* foret Tkl § T T e Fedieh TS ST &1 ST € 371 30 e | el 907 &9 ¢ 91T
STl @ | SIATS foh 2ol 3T Teh-<l1eTg W Bl § o e # wir g 2

~ A.15 firme

C

D.22.5 [W+e
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®* Manish was traveling in the compartment of the car. There he met a man and

five women. Every woman had a child in her arms. How many persons were
there 1in the compartment?

o Ty ST o f<osl T ATAT L TET AT | I&T I8 Ueh &Y S Ul AiennsTi | firem | &
AT Y Tel | Ueh =<7 AT | {<ssl § e fohad =afth & 2

M F A.9
@ &s B. 11

C.10
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* If 4 cows give 4 boxes of milk in 4 days, then in how many days will 8 cows |

give 8 boxes of milk?

* (¢ 4T 4 f& 7 4 feool qer ol =, 1 8 T 8 Tt qer fohe T & <ft 2

A.16
B.2

D.8
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* The number of boys 1n a class 1s three times the number of girls. Which of the |

numbers given below cannot represent the total number of students?

® Ueh &1 H TTSohi ohl HAT TSfoRAl shl E&AT 31 ot T &1 ==l a1 78 st § 9
hIF-HT T ToremfeT ohi shet T o1 Ufd e T8l o Tehd! o2




* A hare walks a kilometer 1n 4 hours. After every kilometer he rests for 20

minutes. What 1s the time taken by him to cover a distance of 3.5 km?

* Uk GUITI(AHSE | T TohaiiHiet =erdT =1 Tedeh fohativiet o &8 g 20 fire fasm

AT gl SaTd

T o6 3. Jrrettvitet <l i o ot | S8 foheT e o 2

bt o = 35X A. 14 Hour
éwq@—_ | I‘HI’@ M
Comiy, — D. 12 Hour
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* At a party, everyone gave a gift to everyone. If the number of gifts 1s 132, then

how many persons were present in the party?

o Ush U1t | g forelt I 5T forelt ot e firge fomm| ofe Suemi it g 132 &1, v ardi o

el fehd SFich M o 2

A.10
B. 20

D.25
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* 20% of the mangoes kept in a basket are bad. If the number of bad mangoes 1n

this basket 1s 35, then how many mangoes are there 1n all?

R CXAETR: KTE ewﬁﬁ%l e 39 TRl T TS 3T hl T&AT 35 &1,
A I fohrd & 2

A 150
B.175
C.18

D. 185




® There are 600 boys in a hostel, each of them playing hockey or football or both.
If 75% of the boys play hockey and 45% play football, then how many students
play both the games?

* T BETEH H 600 A &, $TH © Tish leh! 37T Bl AT aH1 Weld al Fla
'ﬁ‘-\ﬁ‘s’l‘mﬁa@qm Crghy ﬁ,?ﬁ%ﬁﬁ?ﬁﬁ?ﬁ?ﬁ T WA 8 2




® In an examination, 35% of the students failed in one subject and 42% 1n the
other subject while 15% of the students failed in both the subjects. If the total
number of students 1s 2500, then how many students passed 1n only one
subject?

* Teh FIET H 35% ferameff weh fore o ot 429 gHL fors=r 7 S0l T8 Sfeifeh 15%
forameff 21 forat o 3teiivl w) arfe spet feramef 3t wweam 2500 &1, at sheret G &
forsr o ol foramelf 3ol g2

A.325

B.2125

C.1175

D.None of these




